Блок-схема
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Исходный код
#include <stdio.h>

#include <conio.h>

#include <math.h>

 void main()

{ int k1, b1, k2, b2;

  clrscr();

  puts("!!!Lineynoe yravnenie imeet vid:  Y=KX+B");

  printf("Vvedite k1, b1, k2, b2: ");

  scanf("%d,%d,%d,%d",&k1,&b1,&k2,&b2);

  if ((k1==k2) && (b1==b2)) puts("MNOZESTVO RESHENII"); else

  if ((k1==k2) && (b1!=b2)) puts("PARALLELNYE PRAYMYE"); else

  if ( (abs(k1)==abs(k2)) && ((k1<0) || (k2<0)) ) puts("PRYMYE PERPENDIKYLARNY"); else

   puts("ODNO RESHENEI");

  getch();

}   

Тест

	Входные данные
	Полученный результат

	0,0,0,0
	MNOZESTVO RESHENII

	1,2,3,4
	ODNO RESHENEI

	1,2,1,3
	PARALLELNYE PRAYMYE

	-1,2,1,4
	PRYMYE PERPENDIKYLARNY

	1,2,-1,2
	PRYMYE PERPENDIKYLARNY
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